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1. Tobacco production is one of the more heavily subsidized industries in the United States. Suppose that as a result of
intense lobbying from health-related concerns, Congress repeals the tobacco firms' subsidies. Which of the following
scenarios would likely occur? '
a. The tobacco firms' supply curve would shift rightward; as it would now be cheaper to

produce each level of output.
b. The tobacco firms' supply curve would shift leftward, since it would now cost more to

produce each level of output.
¢. The tobacco firms would not experience any shift in their supply curves; subsidies don't

. affect output.

d. There would be a movement along the supply curve for tobacco, but the supply curve would

not shift.

e. None of the above.

2. If the government decided to legalize the purchase and sale of marijuana, the equilibrium quantity would

and the price would if the supply of marijuana increased by than the demand for marijuana increased.
fall; fall; more ’

fall; rise; more

rise; fall; more

rise; fall; less

¢ o g P

none of the above

3. A firm is considering the purchase of a capital good that will generate an additional $400 income each year for 4
years (after which time the capital good is useless and has no scrap value). The capital good will cost $1,600. If the
interest rate is 3 percent, it follows that the firm should
a. rjurchase the capital good.
b. not purchase the capital good.
c. purchase the capital good only on the condition that the expected inflation rate is greater
than the nominal interest rate.
d. not purchase the caﬁital good since the expected inflation rate is less than the real interest
rate.

e. There is not enough information to answer the question.
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4. Suppose a consumer is purchasing Coke and pretzels in quantities such that she is achieving consumer equilibrium.
Then the price of Coke decreases. The consumer will likely her consumption of Coke and the marginal
utility of Coke will while the total utility from Coke will

a. increase; increase; increase

b. increase; decrease; decrease

¢. increase; decrease; increase
d. decrease; increase; increase
e. decrease; decrease; decrease

5. If we apply marginal analysis to a firm that is considering giving its employees a raise of $2 an hour above the current
market wage, we would conclude that the firm will go ahead with this plan only if
a. the current market wage is below the minimum wage.
b. labor costs are less than 50 percent of total costs.
¢. monitoring costs go down by more than $2 per hour, per employee.
the employees do not engage in shirking.

e. None of the above.

6. The average-marginal rule states that if the marginal magnitude is
a. less than the average magnitude, the average magnitude falls.
b. greater than the average magnitude, the average magnitude falls.
c. rising, the average magnitude is necessarily above it. '

falling, the average magnitudé is necessarily below it.

e. candd

7. When the perfectly competitive firm produces the quantity of output at which marginal revenue equals marginal cost,

it naturally A

a.  produces the quantity of output at which marginal cost equals price, since for the perfectly competitive firm price
equals marginal revenue.

b. produces the quantity of output at which short-run average total cost equals price, since for the perfectly
competitive firm short-run average total cost equals marginal revenue.
earns a profit, since equating marginal revenue and marginal cost guarantees profit.

d. takes a loss.

e. none of the above.

8. Since for a monopoly firm price is greater than marginal cost at the profit-maximizing quantity of output, it follows
that the monopoly firm will necessarily
a.  earn profit.
b. cover its variable costs, but not necessarily ifs fixed costs, too.
cover its fixed costs, but not necessarily its variable costs, too.
d. maximize ifs profit by maximizing its total revenue.

BRE

e. none of the above
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9. Once a person learns a computer program, he or she may be slow to change to a new one because there are costs
involved in learning the new software. These costs are called . costs by economists and lead to the so-called
effect.
switching; signaling
signaling; lock-in

a
b

¢. lock-in; "Microsofi"”
d. switching; lock-in

e

switching; "Microsoft"

10. Labor unions try to meet their objectives by influencing the elasticity of demand for labor and the demand for labor.
To influence these factors, they try to do all the following except

a. reduce the availability of substitutes for the product they produce.

b. reduce the availability of substitute factors.

c. increase demand for the product they produce.

d. increase substitute factor prices.

e. reduce the hon-money benefits of substitute factors.

R A KM S EEER (FREH) -

1. Firm 1 and firm 2 are the only producers of spring water in the market. The market demand for spring water is given
by P=70— Q1 — Q2. Firm 1 and firm 2 compete by choosing quantities Q1 and Q2 respectively. Each firm has a
marginal cost of 10 and no fixed cost. Suppose the two firms decide to collude and share the profit equally. Assume
that both firms value their reputation and will behave according to their agreement. What are the quantities they will
choose for each firm _ (11) __? What is the profit of each firm __ (12)__ ? Suppose the two firms decide to
collude and share the profit equally, but both firms do not care about their reputation and might try to take advantage
of the other. Foreseeing this, they make a legally enforceable contract saying that if a firm does not produce the
quantity agreed, it has to pay some penalty to the other firm. What is the minimum amount of penalty that ensures

each firm producing the right quantity for colluding and sharing the profit equally? __ (13) .

2. Linda has utility function over her net income U(I) = /I, Linda drives to work every day and she spends a lot of
money in parking meters. Many days the thought of cheating and not paying for parking crosses her mind. However,
she knows that there is a V4 probability of being caught in a given day if she cheats, and that the cost of the ticket is
$36. Her daily income is $100. What is the maximum amount of she will be willing to pay for one day parking

- ___(14)___? [Hint: by paying that amount she avoids the risk of getting a ticket!].
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5. ATHRB N4 EL5 (GDP) Wit EF K& HE%?_ (17) (BETRAA—B 245842
)

a BERMAETHELE GDP k%

b. EREHBHMEHRL  SEAMTAFESNGKYE GDP RE S

c. £AFRARENEDRHFE Tk > BIKE GDP oy A & RS

d. #4£ M chain-weighting 69 % Xt E X ¥ GDP A &% » M SRABHNEY GDP k2R FH YL

6. 2 _EAE»1996 4 % B #AF e WA chain-weighting &9 F X #+ 4% € GDP- LA‘Fﬁ‘fbé’J{fﬁ]%ﬁ*@iﬁ?f,&é’ﬁ*—#
HhEKE r 4 chain-weighting B F GDP kR AR MRS FELAMMT A H A RE2GHEPH:

gy =05g(tlb=1t)+05g(tlb=t-1).

Edglb=)ARnFrFH5ABAYEXE I FERCDPRKE glb=t-1DAt - 155 mtEx
B4 GDPREE -BF SFTEGOPHHELFEALEEL S 4KM (t— b*) » {E L 569K H GDP
248 GDP (GDP(b*)) A2 % L FHFE GDP A:

RealGDP(b* +5) = GDP(b*)H(l +g(b* +8),5=1,2,3,.

=1
2 Az 454K H GDP &

s=1
: 1
RealGDP(b* —s) = GDP(b™) H (1 pproe
g

,5=1,2,3,..
-t)) .

B o @,xiégﬂ%iﬁiﬁﬁﬁau HEBFREAEF T - B% 2011 4% 3 #0 > BI43E chain-weighting
WHRIE 2012 £ FH GDP A (18) - 2010 %4 GDP F%45$ (GDPdeflator)__ (19)__ -

B8 BE
#¥F g% #\id ¥E R#% Bl % B GDP
2010 10 1 10 5 2 10 20
2011 20 0.5 10 5 3 15 25

2012 40 0.25 10 5 4 20 30
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